

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SNJ 712K

	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	REAR BUMPER	DISTORTED	\$958.90	\$958.90	
1	REAR BUMPER DIFFUSER	CRACKED	\$595.20	\$394.00	
2	REAR BUMPER REFLECTOR @\$165.60	NOT NECESSARY	\$331.20	\$0.00	
2	REAR BUMPER CORNER GARNISH @\$79.90	NOT NECESSARY	\$159.80	\$0.00	
2	REAR BUMPER SIDE RETAINER (SIDE) @\$128.30	NOT NECESSARY	\$256.60	\$0.00	
1	REAR BUMPER REINFORCEMENT	DENTED	\$579.70	\$579.70	
2	REAR BUMPER REINFORCEMENT BRACKET @\$201.20	NOT NECESSARY	\$402.40	\$0.00	
2	REVERSE SENSOR @\$457.60	DAMAGED	\$915.20	\$590.00	
2	REVERSE SENSOR HOLDER @\$55.20	NECESSARY	\$110.40	\$110.40	
1	REVERSE SENSOR WIRE HARNESS	NOT NECESSARY	\$488.10	\$0.00	
2	TAILLAMP @\$896.20	N/S CRACKED	\$1,792.40	\$896.20	
2	TAILLAMP SIDE GARNISH @\$69.80	NOT NECESSARY	\$139.60	\$0.00	
2	TAILLAMP LOWER BRACKET @\$69.60	NOT NECESSARY	\$139.20	\$0.00	
1	TAILLAMP PANEL RH	NOT NECESSARY	\$271.20	\$0.00	
2	REAR FENDER @\$1,104.50	NOT NECESSARY	\$2,209.00	\$0.00	
1	REAR FENDER AIR VENT RH	NOT NECESSARY	\$145.70	\$0.00	
2	REAR FENDER INNER COWLING @\$278.60	NOT NECESSARY	\$557.20	\$0.00	
2	REAR FENDER INNER TRIM @\$845.60	NOT NECESSARY	\$1,691.20	\$0.00	
1	REAR DRAIN PANEL RH	NOT NECESSARY	\$182.30	\$0.00	
1	REAR DRAIN PANEL COVER GARNISH	NOT NECESSARY	\$79.60	\$0.00	
1	BOOTLID	DENTED	\$1,465.80	\$1,465.80	
1	BOOTLID MOULDING (CENTRE)	NOT NECESSARY	\$362.40	\$0.00	
1	BOOTLID NUMBER PLATE LAMP COVER GARNISH	NOT NECESSARY	\$372.40	\$0.00	
2	BOOTLID NUMBER PLATE LAMP @\$162.70	NOT NECESSARY	\$325.40	\$0.00	
2	BOOTLID LAMP RH @\$685.50	NOT NECESSARY	\$1,371.00	\$0.00	
1	BOOTLID LOGO	NECESSARY	\$98.50	\$98.50	
1	BOOTLID EMBLEM 'CAMRY'	NOT NECESSARY	\$85.90	\$0.00	
1	BOOTLID EMBLEM 'HYBRID'	NECESSARY	\$86.30	\$86.30	
1	BOOTLID REVERSE CAMERA	NOT NECESSARY	\$1,389.70	\$0.00	
2	BOOTLID HINGE @\$228.20	NOT NECESSARY	\$456.40	\$0.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	BOOTLID STOPPER @\$24.80	NOT NECESSARY	\$49.60	\$0.00
1	BOOTLID INSULATOR	NOT NECESSARY	\$549.50	\$0.00
1	BOOTLID LOCK	DAMAGED	\$339.80	\$339.80
1	BOOTLID CATCH	NOT NECESSARY	\$58.90	\$0.00
1	BOOTLID WEATHERSTRIP	CUT	\$258.90	\$258.90
1	BOOTLID INNER HANDLE	NOT NECESSARY	\$52.90	\$0.00
1	BOOTLID DETECTOR	CRACKED	\$194.50	\$194.50
1	BOOTLID DETECTOR WIRE HARNESS	NOT NECESSARY	\$549.60	\$0.00
1	REAR END PANEL	DENTED	\$781.70	\$781.70
1	REAR END PANEL TOP GARNISH	DEFORMED	\$324.20	\$324.20
1	REAR FLOOR PANEL	NOT NECESSARY	\$1,176.10	\$0.00
2	REAR FLOOR SIDE PANEL @\$185.75	NOT NECESSARY	\$371.50	\$0.00
1	REAR FLOOR PANEL TOP BOARD	NOT NECESSARY	\$567.20	\$0.00
1	REAR FLOOR PANEL BOTTOM GARNISH	TORN	\$496.80	\$325.00
1	REAR FLOOR TOP SPONGE (CENTER)	CRACKED	\$498.70	\$498.70
1	REAR SILENCER BOX	NOT NECESSARY	\$987.50	\$0.00
1	REAR SILENCER MID PIPE	NOT NECESSARY	\$1,433.20	\$0.00
2	REAR SILENCER BOX MOUNTING @\$65.80	NOT NECESSARY	\$131.60	\$0.00
	LESS 25.00% DISCOUNT		(\$6,710.23)	(\$1,975.65)
		\$20,130.67	\$5,926.95	

Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	REAR NUMBER PLATE WITH CASING (SN)	NOT NECESSARY	\$50.00	\$0.00
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	\$30.00	\$30.00
1	SET BOOTLID INSULATOR CLIP (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET TAILLAMP CLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00
2	TAILLAMP PANEL SEALANT RH @\$60.00 (SN)	NOT NECESSARY	\$120.00	\$0.00
1	SET REAR FENDER COWLING CLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET REAR FENDER INNER TRIM CLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET REAR DRAIN PANEL COVER GARNISH CLIP (SN)	NOT NECESSARY	\$60.00	\$0.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	BOOTLID SEALANT (SN)	NOT NECESSARY	\$150.00	\$0.00	
1	SET BOOTLID INSULATOR CLIP (SN)	NOT NECESSARY	\$80.00	\$0.00	
1	REAR END PANEL INSULATION SEAL (SN)	NECESSARY	\$80.00	\$60.00	
1	REAR FLOOR PANEL INSULATION SEAL (SN)	NOT NECESSARY	\$350.00	\$0.00	
1	REAR FLOOR SIDE PANEL SEALANT (SN)	NOT NECESSARY	\$180.00	\$0.00	
1	SET REAR FLOOR PANEL BOTTOM GARNISH CLIP (SN)	NECESSARY	\$30.00	\$30.00	
		\$1,250.00	\$120.00		

Labour			
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
PANEL BEATING, REMOVAL AND REPLACING PARTS		\$1,800.00	\$800.00
TO SPRAY PAINT AFFECTED AREA		\$1,800.00	\$700.00
TUFF COAT		\$200.00	\$60.00
CERAMIC COATING	NOT NECESSARY	\$600.00	\$0.00
WIRING CHECK		\$180.00	\$30.00
REMOVE AND REFIX CUSHION SEAT/UPHOLSTERY AND ROOF LINNING TO FACILITATE REPAIR		\$180.00	\$80.00
REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING		\$80.00	\$50.00
REMOVE AND REFIX REVERSE CAMERA AND DISTANCE SETTING		\$100.00	\$50.00
TRANSFER BOOTLID MECHANISM		\$80.00	\$80.00
CONDUCT WATER LEAKAGE TEST	NOT NECESSARY	\$80.00	\$0.00
REMOVE AND REFIX REAR EXHAUST PIPE	NOT NECESSARY	\$180.00	\$0.00
TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT/CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC	NOT NECESSARY	\$250.00	\$0.00
		\$5,530.00	\$1,850.00
GRAND TOTAL		\$26,910.67	\$7,896.95
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)			\$6,300.00

TOTAL FOR SPARE PARTS: \$21,380.67 \$ 6,046.95
TOTAL FOR LABOUR: \$5,530.00 \$ 1,850.00
TOTAL REPAIR COST: \$26,910.67 \$ 7,896.95

Report Ref No: CS/INC24100172/Anh3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

LWP

ADRIAN LING WAI PING

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.